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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 501 6 3.5 12 50.1 98.4
2(a) 504 6.3 2.1 8 78.5 99
2(b)(c) 504 4.5 2.1 7 63.7 99

2(d)(e) 496 4.3 2.6 9 48.1 97.5

3(a) 502 3.7 1.7 7 53.4 98.6

3(b) 389 1.6 1.1 3 51.7 76.4
4 458 2.3 2.3 9 25.2 90

5 496 0.7 1.3 5 14.5 97.5

6 468 1.7 1.6 7 24 91.9

7 428 2 2 8 25.6 84.1

8 440 1 1.3 5 20.5 86.4
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(c)

(i) Calculate the number of hours each day that the celebrity will sit on seats in the
stadium. [4]
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(c) (i) Calculate the number of hours each day that the celebrity will sit on seats in the
stadium. [4]

010003
















Applications Unit 1 Mark Comment
Foundation June 2015
1.
(c) (i) 9000 = 4 or 9000+15 or 15 % 60 M1 FT “their 13"
36000 (secs) or 600 or 900 Al
36000 + (60 = 60) or 600 + 60 or 9000 + 900 ml FT “their 36000 or “their 600” or “their 900
Al

10 (hours)
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(c)

(i) Calculate the number of hours each day that the celebrity will sit on seats in the
stadium. [4]

___________ g

4361
010003



Sticky Note

This candidate has correctly calculated that it will take 36000 seconds to sit on all of the seats but does not realise that his answer of 36000 is actually in seconds. Therefore changing this in to minutes and hours has not been done.










(c) (i) Calculate the number of hours each day that the celebrity will sit on seats in the
stadium. [4]




Sticky Note

This candidate has not considered the number of seats sat on in one day and the time that this would be in seconds before converting to hours. They have only considered 24 hours and tried to divide this by 4 seconds.
















{c) () Calculate the number of hours each day that the celebrity will sit on seats in the
stadium. [4]










(d) The celebrity hopes to raise £180000 for charity.

The celebrity has already raised 1 of this amount.

3
How much more money does he hope to raise? [3]
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(d) The celebrity hopes to raise £180 000 for charity.
1

The celebrity has already raised - of this amount.

3
How much more money does he hope to raise?
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(d)  The celebrity hopes to raise £180000 for charity.

The celebrity has already raised :13 of this amount.

, How much more money does he hope to raise? [3]
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(d) 1/3 x 180000
(£) 180000 - 1/3 x 180000
(£) 120000

M1

Al
12

Sight of 2/3 »x 180000 implics M2











(d) The celebrity hopes to raise £180000 for charity.

The celebrity has already raised ;— of this amount.

How much more money does he hope to raise? [3]

© WJEC CBAC Ltd. (4361-01) Turn over.




Sticky Note

The correct value of 1/3 of £180000 has been calculated but the candidate has not interpreted the question correctly and hence does not know that this must be subtracted from £180000.










(d)  The celebrity hopes to raise £180 000 for charity.
1

The celebrity has already raised - of this amount.

3
How much more money does he hope to raise?

© WJEC CBAC Ltd. (4361-01)
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Sticky Note

Many candidates wrote this calculation as a method but did not actually calculate 180000 divided by 1/3. Most did as per this candidate and subtracted 1/3 from £180000, rather than calculating 180000 - 1/3 of 180000.










(d)  The celebrity hopes to raise £180000 for charity.

The celebrity has already raised 1 of this amount.

3
- How much more money does he hope to raise? [3]

© WJEC CBAC Ltd. (4361-01) Turn over.




Sticky Note

A common error used was converting 1/3 incorrectly into a decimal. This was then often divided into £180000. The candidate here has used that method but has realised that this would create a larger value than what was given. They have then decided to divide this amount by 10 so that it gives a reasonable value and a sensible answer when subtracted from £180000.










(d) The celebrity hopes to raise £180000 for charity.

The celebrity has already raised 1 of this amount.

3
How much more money does he hope to raise? [3]
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4

Mr Jones lives in Orchard Close where the residents decide to hold a street party to celebrate
his 90t birthday. '

(@)

You will be assessed on the quality of your written communication in this part of the
question.

Including Mr Jones, there are 22 residents who live in Orchard Close.
The other 21 residents each contribute £10 towards the party.

Mr Jones’ birthday cake is given free by the local baker.
Residents bring their own drinks.

12 large packets of crisps are bought for £1.89 each.

The local baker supplies 22 plates of sandwiches at £3.50 each.

44 sausage rolls are bought from the local baker for a total of £23.89.

4 large bowls of salad are bought for £8.99 each.

The total cost of the material for the tables and decorations is £50.

Does the money given by the residents cover the costs for all the items bought for the

street party?
You must show all your working. [8]
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4

Mr Jones lives in Orchard Close where the residents decide to hold a street party to celebrate
his 90t birthday.

(@)  You will be assessed on the quality of your written communication in this part of the
question.

Including Mr Jones, there are 22 residents who live in Orchard Close.
The other 21 residents each contribute £10 towards the party.

Mr Jones’ birthday cake is given free by the local baker.
Residents bring their own drinks.

12 large packets of crisps are bought for £1.89 each.

The local baker supplies 22 plates of sandwiches at £3.50 each.

44 sausage rolls are bought from the local baker for a total of £23.89.
4 large bowls of salad are bought for £8.99 each.

The total cost of the material for the tables and decorations is £50.

Does the money given by the residents cover the costs for all the items bought for the
street party?

You must show all your working. [8]
\2 ..... Lot 9./.@...(?..@.:C...K.&M...gé_.,...i;r.jg@&_.zﬁL.,.&.B.... ..........................................................
P PR N Y G Xt = 3V 4 S
B VLT ET SN Y iy, w 1)1 UL (S
olaye. o Ll D500
RN A - - N
..................................................................................................................... Coral (eohzl226.8
......... o U’TL\L‘F‘/\v’\k‘(ﬂB}C%rﬁ(()»'\?,r%(a;&fhu(,d/k
...... £ M“L”S@W/m%ﬁ’tﬁf&z%ud auky........
..... ‘”Qaw,_mW;V\’ogww\”'&’%”twsug*
..... (P < SO/ /a W <0 SO = X AN 1700 SO T U S E LV N
ElQ...eal. Dk 2P T SOtoa.....0u o gher L5
FUNES T S R o o VERE O

© WJEC CBAC Ltd. (4361-01)

Examiner
only











4

2. Mr Jones lives in Orchard Close where the residents decide to hold a street party to celebrate Exf,nmliy”e
his 90t birthday.

question.

Including Mr Jones, there are 22 residents who live in Orchard Close.
The other 21 residents each contribute £10 towards the party.

Mr Jones’ birthday cake is given free by the local baker.
Residents bring their own drinks.

12 large packets of crisps are bought for £1.89 each.

The local baker supplies 22 plates of sandwiches at £3.50 each.

44 sausage rolls are bought from the local baker for a total of £23.89.
4 large bowls of salad are bought for £8.99 each.

The total cost of the material for the tables and decorations is £50.

Does the money given by the residents cover the costs for all the items bought for the
street party?

(@)  You will be assessed on the quality of your written communication in this part of the
You must show all your working. [8]
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2. (a) (Money from residents 21 x 10 =) (£)210

(Cost of crisps 12 x 1.89 =) (£)22.68

(Cost of sandwiches 22 = 3.50 =) (£)77

(Cost of salad bowls 4 x 8.99) (£)35.96

(Total costs 22.68+ 77 + 23.89 + 35.96 + 50 =)
(£)209.53

Yes (the money covers everything, they have 47pence
left)

Look for
o spelling
e clanty of text explanations, labels
¢ the use of notation (watch for the use of =’
and ‘£’ appropriately used)

QWC2: Candidates will be expected to
e present work clearly, with words explaiming
Process or steps.
AND
¢  make few if any mistakes in mathematical
form, spelling, punctuation and grammar and
include units in their final answer

QWCI1: Candidates will be expected to
e present work clearly, with words explaining
process or steps.
OR
e  make few if any mistakes in mathematical
form, spelling, punctuation and grammar and
include units in their final answer

Bl
B1
B1
Bl

Bl

El

QWC

FT “their 22.68” + “their 77" + “their 35.96” +
23.89 + 50 provided one of the 2™, 3 or 4% B1
marks awarded

FT interpretation of their final cost, provided at
least B1 awarded.

QWC2 Presents relevant material in a coherent and
logical manner, using acceptable mathematical
form, and with few if any errors in spelling,
punctuation and grammar.

QWC]1 Presents relevant material in a coherent and
logical manner but with some errors in use of
mathematical form, spelling, punctuation or
grammar

OR

evident weaknesses in organisation of material but
using acceptable mathematical form, with few if
any errors in spelling, punctuation and granmmar.

QWCO Evident weaknesses in organisation of
material, and errors in use of mathematical form,
spelling, punctuation or grammar.
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Examiner

2. Mr Jones lives in Orchard Close where the residents decide to hold a street party to celebrate| 5,

his 90t birthday.

(@ You will be assessed on the quality of your written communication in this part of the
question.

Including Mr Jones, there are 22 residents who live in Orchard Close.
The other 21 residents each contribute £10 towards the party.

Mr Jones’ birthday cake is given free by the local baker.
Residents bring their own drinks.

12 large packets of crisps are bought for £1.89 each.

The local baker supplies 22 plates of sandwiches at £3.50 each.

44 sausage rolls are bought from the local baker for a total of £23.89.
4 large bowls of salad are bought for £8.99 each.

The total cost of the material for the tables and decorations is £50.

Does the money given by the residents cover the costs for all the items bought for the
street party?

You must show all your working. [8]
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Sticky Note

A common error occurred with candidates misreading the information given. Many thought that all 22 residents paid £10 towards the party rather than only 21 residents.
This candidate has not labeled their calculations, hence not explaining the steps that they have taken.
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4

i
|
Mr Jones lives in Orchard Close where the residents decide to hold a street party to celebrate Eximiy"er |
his 90t birthday. l

(@)  You will be assessed on the quality of your written communication in this part of the
question.

Including Mr Jones, there are 22 residents who live in Orchard Close.
The other 21 residents each contribute £10 towards the party.

Mr Jones’ birthday cake is given free by the local baker.
Residents bring their own drinks.

12 large packets of crisps are bought for £1.89 each.

The local baker supplies 22 plates of sandwiches at £3.50 each.

44 sausage rolls are bought from the local baker for a total of £23.809.
4 large bowls of salad are bought for £8.99 each.

The total cost of the material for the tables and decorations is £50.

Does the money given by the residents cover the costs for all the items bought for the
street party?

You must show all your working. [8]
\)— ..... ‘ﬁfgﬂ&(k‘&*fc(y(r»>0£:\f‘¢2, ...... ' B el
AL 0 ades f  Sardwinhey g5

......... @ O’TL\&P/\\)’\QM‘b}Cgtr\‘P(bx'x,rwcﬁ,n‘/k’b\&}/t o
| : . L : BC
\feon Fohg > o g D

...... { ng@%ajm“‘f W&bretfvmwt o

. o - o i S P =
..... !”\y,cxawwj\,okuv\’Ogm\/w\’\/%”kmsug*

i 2 ] ;:. 7’
..... (228l 600 fagmabr 80X oA\ Qe g (W2
=lo L T 10 A oty Aurooher 13
.10 o
............ l..-)-H/.--/-/---..‘---..‘...--............”.....................4.,.....4.--..........4-.”.................4.....“u.....4.,,‘.‘......A.......v........,.................»----.........n--

© WJEC CBAC Ltd. (4361-01)



Sticky Note

Candidates mis-interpreted the cost of the sausage rolls within this question. Many thought that each sausage roll cost £23.89 rather than all 44 for this value. This resulted in the total of the party being incorrect.

This candidate has labeled all of their calculations clearly.










4

2. Mr Jones lives in Orchard Close where the residents decide to hold a street party to celebrate Eximiy”e
his 90t birthday.

question.
Including Mr Jones, there are 22 residents who live in Orchard Close.
The other 21 residents each contribute £10 towards the party.

Mr Jones’ birthday cake is given free by the local baker.
Residents bring their own drinks.

12 large packets of crisps are bought for £1.89 each.

The local baker supplies 22 plates of sandwiches at £3.50 each.

44 sausage rolls are bought from the local baker for a total of £23.89.
4 large bowls of salad are bought for £8.99 each.

The total cost of the material for the tables and decorations is £50.

Does the money given by the residents cover the costs for all the items bought for the
street party?

(@)  You will be assessed on the quality of your written communication in this part of the
You must show all your working. [8]
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Sticky Note

Mis-interpretation of the cost of the salad bowls was a common error. Many candidates thought that £8.99 was the cost for all 4 salad bowls rather than the cost for one.
This candidate has labeled all their calculations clearly.










2. Mr Jones lives in Orchard Close where the residents decide to hold a street party to celebrate
his 90th birthday.

(@) You will be assessed on the quality of your written communication in this part of the
question.

Including Mr Jones, there are 22 residents who live in Orchard Close.
The other 21 residents each contribute £10 towards the party.

Mr Jones’ birthday cake is given free by the local baker.
Residents bring their own drinks.

12 large packets of crisps are bought for £1.89 each.

The local baker supplies 22 plates of sandwiches at £3.50 each.

44 sausage rolls are bought from the local baker for a total of £23.89.

4 large bowls of salad are bought for £8.99 each.

The total cost of the material for the tables and decorations is £50.

Does the money given by the residents cover the costs for all the items bought for the

street party?
You must show all your working. [8]










(c) Decorations are made to decorate the tables for the street party.
They are made in the shape of right-angled triangles, as shown below.

15¢cm

Diagram not drawn to scale

Calculate the size of the angle x.

200°-23°— 00° = 7 LS°

Draw accurately the right-angled triangle shown above.

© WJEC CBAC Ltd. (4361-01)
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()

Decorations are made to decorate the tables for the street party.
They are made in the shape of right-angled triangles, as shown below.

35°

15¢cm

Diagram not drawn to scale

(i) Calculate the size of the angle x.

206°~2°~ 0o° = 7 3S°

(i)  Draw accurately the right-angled triangle shown above.

=

© WJEC CBAC Ltd. (4361-01)
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Sticky Note

A common misconception by candidates was believing that the sum of the interior angles of a triangle sum to 360 or 380, rather than 180.



Sticky Note

Several candidates did not draw an accurate diagram of the given right-angles triangle. Many just re-drew the given triangle.
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One day, Gary cycles from his house to a café 15 miles away.
He leaves his house at 11 a.m. and cycles for an hour to the café.
He stops at the café for half an hour to have a drink.

3

He then heads home but stops after = hour to fix a puncture 4 miles from his house.

4
It takes him 15 minutes to fix the puncture.
He then cycles the last 4 miles back home at a speed of 8 miles per hour.

(a) On the graph paper below, draw a travel graph to show Gary'’s journey.

Examiner
only
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Examiner l
|
One day, Gary cycles from his house to a café 15 miles away. s |
He leaves his house at 11 a.m. and cycles for an hour to the café. {
He stops at the café for half an hour to have a drink. |
He then heads home but stops after % hour to fix a puncture 4 miles from his house.
It takes him 15 minutes to fix the puncture.
He then cycles the last 4 miles back home at a speed of 8 miles per hour.
(a) On the graph paper below, draw a travel graph to show Gary'’s journey. [6]
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Sticky Note

This candidate has not used a uniform scale for the time and has not started the graph of Gary's journey from the correct time. Although the candidate has correctly drawn the first stop, the second one is not accurate enough. The candidate has failed to realise that Gary starts his return journey after the first stop.
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Examiner

4. One day, Gary cycles from his house to a café 15 miles away. ' ol
He leaves his house at 11 a.m. and cycles for an hour to the café.
He stops at the café for half an hour to have a drink.

He then heads home but stops after % hour to fix a puncture 4 miles from his house.

It takes him 15 minutes to fix the puncture.
He then cycles the last 4 miles back home at a speed of 8 miles per hour.

(@ On the graph paper below, draw a travel graph to show Gary’s journey. [6]

L
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Examiner
4. One day, Gary cycles from his house to a café 15 miles away. ol
He leaves his house at 11 a.m. and cycles for an hour to the café.
He stops at the café for half an hour to have a drink.
He then heads home but stops after % hour to fix a puncture 4 miles from his house.
It takes him 15 minutes to fix the puncture.
He then cycles the last 4 miles back home at a speed of 8 miles per hour.
(@ On the graph paper below, draw a travel graph to show Gary’s journey. [6]
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Sticky Note

This candidate has interpreted the first stop by Gary as an hour and a half rather than half an hour. The rest of their answer obtained full marks as the result of a correct follow through for their drawing of the graph of Gary's journey.
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4. One day, Gary cycles from his house to a café 15 miles away.
He leaves his house at 11 a.m. and cycles for an hour to the café.
He stops at the café for half an hour to have a drink.

He then heads home but stops after 3 hour to fix a puncture 4 miles from his house.

4
It takes him 15 minutes to fix the puncture.

He then cycles the last 4 miles back home at a speed of 8 miles per hour.

(a) On the graph paper below, draw a travel graph to show Gary’s journey.

(6]

Examiner
only
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Examiner
4. One day, Gary cycles from his house to a café 15 miles away. oty
He leaves his house at 11 a.m. and cycles for an hour to the café.
He stops at the café for half an hour to have a drink.
He then heads home but stops after %— hour to fix a puncture 4 miles from his house.
It takes him 15 minutes to fix the puncture.
He then cycles the last 4 miles back home at a speed of 8 miles per hour.
(a) On the graph paper below, draw a travel graph to show Gary’s journey. [6]
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Sticky Note

The return journey has not been correctly drawn on the graph. 4 miles from home has not been correctly interpreted, although the time of 3/4 hour has. The final part of Gary's journey has not been drawn at a speed of 8 mph. Many candidates could not represent this on the graph and did not understand that 8mph is the same as 4 miles in 1/2 hour.
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One day, Gary cycles from his house to a café 15 miles away.

He leaves his house at 11 a.m. and cycles for an hour to the café.

He stops at the café for half an hour to have a drink.

He then heads home but stops after % hour to fix a puncture 4 miles from his house.
It takes him 15 minutes to fix the puncture.

He then cycles the last 4 miles back home at a speed of 8 miles per hour.

Examiner
only

(@) On the graph paper below, draw a travel graph to show Gary’s journey. [6]
10 %} D N R < 6 ]
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4. One day, Gary cycles from his house to a café 15 miles away.
He leaves his house at 11 a.m. and cycles for an hour to the café.
He stops at the café for half an hour to have a drink.
He then heads home but stops after % hour to fix a puncture 4 miles from his house.
It takes him 15 minutes to fix the puncture.

He then cycles the last 4 miles back home at a speed of 8 miles per hour.

(@) On the graph paper below, draw a travel graph to show Gary’s journey. [6]
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Sticky Note

This candidate has not read either scale correctly when drawing a distance of 11 miles in 3/4 hour for the start of Gary's return journey. Many candidates do not interpret a travel graph correctly for return journeys. 
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4. One day, Gary cycles from his house to a café 15 miles away.
He leaves his house at 11 a.m. and cycles for an hour to the café.

He stops at the café for half an hour to have a drink.

He then heads home but stops after % hour to fix a puncture 4 miles from his house.
It takes him 15 minutes to fix the puncture.

He then cycles the last 4 miles back home at 3 speed of 8 miles per hour.

(@  On the graph paper below, draw a trave| graph to show Gary'’s journey.

[6]

© WJEC CBAC Ltd. (4361-01)
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One day, Gary cycles from his house to a café 15 miles away.

He leaves his house at 11 a.m. and cycles for an hour to the café.
He stops at the café for half an hour to have a drink.

He then heads home but stops after % hour to fix a puncture 4 miles from his house.
It takes him 15 minutes to fix the puncture.
He then cycles the last 4 miles back home at g speed of 8 miles per hour.

(@  On the graph paper below, draw a trave| graph to show Gary'’s journey.

[6]

© WJEC CBAC Ltd. (4361-01)
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Sticky Note

This candidate has not used a uniform scale. This is a common error at the Foundation tier. Candidates will be penalised for this.
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6. The state of Hawaii in the USA consists of 8 main islands.

The six largest of these islands are Hawaii, Maui, Oahu, Kauai, Molokai and Lanai.

(@ The land area of Oahu is 596-7 square miles.
1 square mile is approximately 2-59 km?Z.
Calculate the land area of Oahu in km2.
Give your answer correct to 3 significant figures.

© WJEC CBAC Ltd. (4361-01)
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14

6. The state of Hawaii in the USA consists of 8 main islands.
The six largest of these islands are Hawaii, Maui, Oahu, Kauai, Molokai and Lanai.

North

(@) The land area of Oahu is 5967 square miles. @
1 square mile is approximately 2-59 km?Z.
Calculate the land area of Oahu in km?2.
Give your answer correct to 3 significant figures. [3]

© WJEC CBAC Ltd. (4361-01)

Examiner
only




Sticky Note

A common error with many candidates at the Foundation tier was to multiply 596.7 by 2.59 squared. This candidate though has added 2.59 squared to 596.7.






Applications Unit 1 Mark Comment
Foundation June 2015
2.
(c)(1) 180 — (35 + 90) or implied equivalent eg 90 - 35 MI Award B3 for a complete correct triangle
=35 ) ) ) Al Award B2 for 2 of the 3 measurements correct or
(i1) Correct triangle drawn with base=15¢m (+2mm) B3

Angles 90°(+2°) and 35°(£2°) (or 55° +2° used)

all 3 correct but a triangle not completed

Award Bl for 1 of the 3 measurements correct.
Use overiay.







(c) Decorations are made to decorate the tables for the street party.
They are made in the shape of right-angled triangles, as shown below.

B 35°

15cm

Diagram not drawn to scale

(i) Calculate the size of the angle x. 2]

(i) Draw accurately the right-angled triangle shown above. [3]










4. (a) Vertical axis labelled as distance AND uniform
scale used starting from zero.

Horizontal axis labelled as time AND uniform scale
used

First part of journey drawn: 15 miles in 1 hour

Stop of half an hour shown AND stop of 15 mins
shown

1™ part of return journey drawn: 11 miles in 3 hour
Last part of return journey drawn from stop to home at
a speed of 8mph (4 miles in ' hour).

(b) Time given as 2(pm)

(c) 1.45(pm)

Bl

Bl

B1
Bl

Bl

Bl
B2

If first two B marks not awarded, award SC1 for
labelled axes with uniform scales swapped OR for
both uniform scales on correct axes but not
labelled.

FT their scale

FT throughout the journey.

FT their graph.

FT their graph.

Award B1 for evidence of looking at 2 miles away
from home.







4. ©One day, Gary cycles from his house to a cafée 15 miles away.
He leaves his house at 11 a.m. and cycles for an hour to the café.
He stops at the cafe for half an hour to have a drink.

He then heads home but stops after 3 hour to fix a puncture 4 miles from his house.

4
It takes him 15 minutes to fix the puncture.

He then cycles the last 4 miles back home at a speed of 6 miles per hour.

(al Onthe graph paper below. draw a travel araph to show Garv’s journev. [61

Extra working space
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(b} Using vour graph, state what time Gary arrived home after his cycle ride. 1]
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(¢} Al what time in the afternoon was Gary 13 miles away from the café? (2]
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6. The state of Hawaii in the USA consists of 8 main islands.
The six largest of these islands are Hawaii, Maui, Oahu, Kauai, Molokai and Lanai.

North

(@) The land area of Oahu is 596-7 square miles.
1 square mile is approximately 2-59 km?2.
Calculate the land area of Oahu in km?2.
Give your answer correct to 3 significant figures. [3]










6.(a) 596.7 < 2.59
1550 (km?)

(b){i) Centre points marked on Kauai and Maui with
intention to join to measure a suitable angle from
North line(s)

293° +3°

(11) Appropriate reason, ¢.g. “North lines not accurate’,
‘guess at the centre points’, ‘map too small’, ‘earth not
flat’, ...

Ml
A2

M1

A2

El

Allow 1550(.000 kn1®)

Al for 1545(.453 ko)

IfMO or A0, also award SC1 for showing ‘their
given answer’, provided it is >999.9 correct to 3
sf

(596.7+2.59 leading to 230 is awarded no marks)

Needs to show centres for the relevant islands and
North line(s)

Al for sight of 67° £3° or bearing outside
tolerance but 293°+5°, this will also imply M1, as

does a correct response

Allow “diagram may not be drawn to scale’








